Project 12-6
RPN Calculator 
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Operation

· To perform a calculation, the user starts by entering two or more values into the text box and clicking on the Enter button or pressing the Enter key for each.

· When the user clicks on one of the operator buttons, the last two values entered are used to perform the calculation. The result is displayed in the text box. Then, the user can enter additional values and/or perform additional operations.

Specifications

· This application should use a stack to store the values entered by the user. When the user clicks on one of the operator buttons, the application should retrieve the last two items from the stack and perform the appropriate operation. Then, it should add the result to the stack.

· So the user knows what values are in the stack, the application should update the contents of the label each time a new value is entered or an operation is performed. To do that, it will need to retrieve each item from the stack, use it to format the label, and add it to a temporary stack so it isn’t lost. Then, it can recreate the original stack from the temporary stack.

How Reverse Polish Notation works

· RPN, which stands for Reverse Polish Notation, is a technique used to perform complex calculations using Science and Engineering calculators, especially those from Hewlett-Packard. When you use this technique, you can calculate the result of any standard arithmetic expression without using parentheses. For example, the expression 5 * (4 + 3) can be calculated in RPN like this:
4 Enter 3 Enter + 5 Enter *

It can also be calculated like this:

5 Enter 4 Enter 3 Enter + *

· For more information about how RPN works, you can search the Web for “RPN.” You’ll find several Web sites devoted to explaining RPN and several Web-based RPN calculators to experiment with.

